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Ambherst College
DEPARTMENT OF MATHEMATICS

Math 121
Midterm Exam #2
February 15-18, 2020

e This is an Open Notes Exam. You can use materials, homeworks problems, lecture notes, etc.

that you manually worked on.

e There is NO Open Internet allowed. You can only access our Main Course Webpage.

e You are not allowed to work on or discuss these problems with other people. You can ask a few
small, clarifying, questions in Office Hours, but these problems will not be solved.

e Submit your final work in Gradescope in the Exam 2 entry.

e Please show all of your work and justify all of your answers.

Problem

Score

Possible Points

40

14

21

25

Total

100




1. [40 Points] Compute the following integrals. Justify your work.
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1. (Continued) Compute the following integrals. Justify your work. (owmglete
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n=1

2. [14 Points] Demonstrate two different methods to prove this given series —— Converges
=4 e2n

1. First you must use the Integral Test.

2. Second, use a different method.
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3. [21 Points] Determine whether each of the following series converges or diverges. Name
any convergence test(s) you use, and justify all of your work.
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(c) Use the Absolute Convergence Test to Prove that Z:l ﬁ is convergent.
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Determine whether the given series is absolutely convergent, conditionally

4. [25 Points|
convergent, or diverges. Name any convergence test(s) you use, and justify all of your work

(a) Z (=1)" 1 ;—-’9/’\'5- "’—' ~ Z‘_lv—‘— D\vem‘)cw* v mani'c
Q-7 n=I P- Cevies p=\

on-"17
4\—
muS we)

{
4

=L
Y

A
k‘\w\ N = L 3\,

n=1
AST ovn O-S-
LCT L\MH-
= QV\—7
j noa n=7/ /V\ w2

b= qvv") v
Enaite  Now-2ev0
2- Liwa Qﬁ )
9,—)"\0 nIR
— AS. alss D‘\vemscs \ob Weny
3- Tlevms Dec‘/gmjl\v\ﬁ
. Low §
A e R L
W qan) =7 Gu=] by AST
vt q -7
B]ar\-\?/
oV
v \ \
Nz —— =1 ’\
Fix g (ax-7)
b Definihown
2 £10= 71, <0 3
%) -

Nole: THuse CT om AS: then weed

\ (
—_— Z —_— O\V\A —
An-7 an %l
Cowstudd Muldple of
D \vevbJUN"_ Semes

?—- l \5 D\\/t"vf"d—

o



4. (Continued) Determine whether the given series is absolutely convergent, conditionally
convergent, or diverges. Name any convergence test(s) you use, and justify all of your work.
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4. (Continued) Determine whether the given series is absolutely convergent, conditionally
convergent, or diverges. Name any convergence test(s) you use, and justify all of your work.
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